REEXHNEAAS)

HAR | XHES XHANE T HE4E (M)
1858 =8 2024 RFERILE 2,000
1858 & BERGRHERILE 4,000
1A6H B L EEEE BN 4,290
1878 B EEEEE 4,000
1A8H & LEEERETHERILSE 6,000
1H10H FE TBECERHERH 5,000
1H11H S5 LETEUAFAFREREFERILE 4,000
1H11H R LETEAFAFREREFERILE 2,310
1H11H BHHR —RXEIASHES 2,310
1H11H £F%E |TROARIEMRIK 16,500
1H12H BHHR AEBHISHERILE 2,390
1H13H8 =& BB OV TEERI LTI ERE=SERBLEIM VTR —REFHDES 5,000
1H15H S5 BEMHEABESTERILE 4,000
1H16H fiemZE |TRHUEFLE 4,140
1H16H HHR R ISEAE I NGTEERAREBHRS 20,000
1H19H B AENEREBHRNEEESHOEHRESR 2,390
1H20H =8 SONAFEDDEN 2,000
1H21H FE TBECERHERH 5,000
1H21H B EBERNSHES 2,310
1H22H & BLEEREDETERILE 5,000
1H22H B LERESTES 2,310
1H23H S8 HRBEAEBBHEVV AXF—YT7—S&EH/N—FT(— 6,000
1H23H R LEMABEREERESTERILE 2,640
18248 =& AEEMDILRE - TEREFE -FTEN—V T HBEEAREIR RS 5,000
1H24H fiemZE |TEXEFLE 7,101
1H24H B |[HEAEERBA—TJI AT/ L BEFEEREYREEEN 19,974
1H25H S8 LB IREMFERILE 4,500
1H25H B 2EEISEMEEREERES 13,200
1H27H S8 ZBEAOvTRIERIT LTANEEDR RS 5,000
1H29H S8 AETHFEREECHERTH 10,000
1H31H S8 BIASRXAMESBES 5,000
SH65E1 B /Mt 183,365
XHX S #51 FHH&%E (M)
ERENER 0 0
S5 14 67,500
B 11 58,150
FE 2 10,000
e - 0 0
RESH 0 0
femE 2 11,241
IEIvE 7] 1 19,974
2R 1 16,500
HEt 31 183,365




XEEXHANR(2H5)

HEAR | ZHRS FHRNE ZHEEE(H)
282H E=$- 1 LH BREXRROEHERILE 3,500
2828 B M AEEEKEIRERERS 17,050
2H2H B FaIBLVERY 4,290
2H3H =& BEAEEHEA—TIATANILEREE 2,000
2858 B EEEREESRALETEAYVIIES 2,310
2A6H B BLEHASHES 2,390
28B7H =& 2FHBE1AHE 2,000
28108 BiY |BREK-BEAAESREBERS 17,942
28108 =& EREAAK-BAAESREBERS 5,000
28118 =& RIIRREFRARXRHICHESBEBEHRS 1,650
28138 FE AETUNFEREECHETA 10,000
28218 FE AETNFEREECHETA 10,000
28218 HH ZETPTAESSXHis 2,090
2823H E=- 1 BE - BB TRFEESBHRE 3,000
28248 E=-1 BHRIFRIEEE/ NEERIH LT ERHEEOER KRS 5,000
2A24H B EER+FRF—/ FA—LBERAR SRS 5,000
28248 FE TAETMESBEECHETH 10,000
2H248 B LR EBERRERAERESNER 2,090
2H25H B BEMVLELEA—T AN EREES 3,300
2828H E=$- 1 BRLBEAIEBHFEVVRAF YT —SEHSH/N—FT4— 6,000

SF64E2H /et 114,612

XX i T HE&EE (M)

AREXEE 0 0
=& 8 28,150
B 8 38,520
FE 3 30,000

e - B 0 0

RESR 0 0

femE 0 0
BT 1 17,942
2 RE 0 0

=1 20 114,612




